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$\37»,%§ Maharashtra State Board of Secondary and
G w%_; Higher Secondary Education, Pune 04
‘&%%\y Sub. : Sociology Std. XII (45)

(w.e.f. Academic Year 2020-21)

EVALUATION PATTERN
Sr. no Exam Marks Time
1. Unit test—1 25 1.30 hrs.
2. 1st Term 50 2.30 hrs.
3. Prelim 80 3 hrs.
4. Internal test
(Worksheet) 20 1 hrs.

Question Paper Format

Firstunit test - 25 Marks.
First term examination - 50 Marks.

Prelim - 80 marks.

P b=

20 Marks application based practical exam. (To be conducted before the Prelim.

20 Marks worksheet practical exam should include application based 20 questions.)

Distributions of marks for each question

Q.1 Attemptthe following objective type questions. [20]
A) Complete the following statements by choosing the correct alternative given in the
bracket and rewrite the statement. Q)

Total marks—5, five statements each carry one mark each. No internal options given for this question.

B) Correctthe incorrect pair and rewrite the correct one. Q)

Total marks — 5, It has five sets, each having four pairs. Each set has one incorrect pair, student must find the
incorrect pair and rewrite the correct answer. No internal options given for this question.

AATSALATE 7




0 Identify the appropriate term from the given option in the box and rewrite it

against the given statement. 5
Total marks — 5, Concepts would be given in the box, students must select the correct

concept for the given statement and rewrite the answer. No internal option given for this
question.

D) Correctthe underlined words and complete the statement. 5)
Total marks — 5, this question has five statements carrying one mark each. In each

statement student must correct the underlined word and rewrite the statement. No
internal option given for this question.

Q. 2) Write short notes (Any two) t))

Total marks — 8, In this section three questions carrying four marks are asked, any two out
ofthe three must be attempted.

Q. 3) Write differences (Any three) 12)

Total marks — 12, In this section five questions carrying four marks each are asked, any
three must be attempted. Differences must be written in point wise.

Q.4) Explain the following concepts with examples (Any two) 3

Total marks — 8, In this section three questions each carrying four marks are asked, any

two must be attempted.
Answer should include:
. Meaning of the concept; 1 mark.
. Explanation of the concept; 2 marks.
. Example 1 Mark.
Q. 5 (A) Complete the concept map. )]

Total marks — 4, this question is based on the diagram which is given on the intermediate
concept of any chapter (flowchart, complete the chart and concept map). Concept related
four blanks must be filled to complete the diagram. No internal option given for this
question.

AATSALATE 8



B)

State whether the following statements are true or false with reasons. (Any three)

Total marks — 8, three statements carrying four marks each are given, any two must be
attempted.

Answer should include:
True or False - 1 mark
Reasons (minimum three points with explanation) - 3 marks

Q. 6 A) Read the following passage and answer the questions given below.

B)

Q.7)

Total marks— 6, Passage shall be given from the textbook.

Sociological concepts related content from the textbook will be given as passage, two
questions carrying three marks each are given. Questions are based on application.
Answer must include concept knowledge, understanding of the topic and sociological
analysis.

Answer should include:
J Knowledge ofthe content; 1 mark.
. Explanation of the content; 2 marks.

Give your personal response (Any one)

Total marks — 4, two questions carrying four marks each are given, any one must be
attempted.

Student has to give their opinion; answer must be based on knowledge, understanding
and application

Answer the following questions in detail in about 150 to 200 words (Any one)

Total marks — 10 marks, Attempt any one out of the two. Application skills based questions

must be asked in this segment. Key points/hints can be given to frame the answer.

Marks should be allotted on the opinion, conceptual knowledge and the understanding
of'the student.
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Unit wise distribution of marks

UNITS CONTENT MARKS WITH MARKS WITH
OUT OPTION OPTION
1 Introduction to Indian Society 12 19
2 Segments of Indian Society 13 18
3 Diversity and Unity in Indian Society 12 15
4 Processes of Social Change in India 12 19
5 Social Movements in India 12 15
6 Social Problems in India 13 22
7 Passage 06 06
TOTALMARKS 80 114
Objective wise distribution of marks
OBJECTIVE MARKS WITH % OF MARKS MARKS WITH
OUT OPTION OPTION
KNOWLEDGE 22 27.50 26
UNDERSTANDING 30 37.50 42
APPLICATION 28 35 46
TOTAL 80 100 114
Question Wise Distribution of Marks
QUESTION Q’S WITH Q’S WITH % OF MARKS MARKS
OUT OPTION | OPTION MARKS WITH OUT | WITH
OPTION OPTION
OBJECTIVES 20 20 25 20 20
S.A. 13 19 62.50 50 74
L.A 01 02 12.50 10 20
TOTAL 34 41 100 80 114
HHTSISRE
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(w.e.f. Academic Year 2020-21)

Maharashtra State Board of Secondary and

Higher Secondary Education, Pune 04
Sub. : Sociology Std. XII (45)

Question Paper Pattern

Q. | Type of question No. of questions | No. of questions Marks Marks with
No. with option with option without option
option

1 Attempt the following
objective type
questions.

(A) | Fill in the Blanks 05 05 05 05

(B) | Correct the incorrect 05 05 05 05
pair

(C) | Identify the appropriatg 05 05 05 05
term from the given
options

(D) | Correct the underlined 05 05 05 05
words and complete thg
statement

2 Write short notes 02 03 08 12
(Any two)

3 Write differences 03 05 12 20
(Any three)

4 Explain the following 02 03 08 12
concepts with
examples (Any two)

5 (A) Complete the 01 01 04 04
concept map

FHTSTATH
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(B)

State whether the
following statements
are True or False with
reasons (Any two)

02

03

08

12

6 (A

Read the following
passage and answer
the questions given
below

02

02

06

06

(B)

Give your personal
response
(Any one)

01

02

04

08

Long Answer
(Any one)

01

02

10

20

Total

34

41

80

114

THTSTATRA
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Maharashtra State Board of Secondary and

Higher Secondary Education, Pune 04

Sub. : Sociology Std. XII (45)
(w.e.f. Academic Year 2020-21)

%,

Internal test (Worksheet)
(NAME OF YOUR COLLEGE)

Time: 1 hrs. Marks: 20

Signature of the supervisor

Note;
1.
2.
3.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

All questions are compulsory.
One mark to each question.

Write answer in one word only.

Hindu sacred literature was in Sanskrit which the common man did not understand. The teachings of
Jainism were in the language of common people.

Ardhamagadhi
The Mughal ruler started a religion based on ethical rationalism, is called Din-i-Ilahi.
Akbar

During the British rule Dr. M.N. Srinivas noticed that many Indians who came into contact with the
British started following their life style, ways of living, clothing, mannerism etc. Thus change
started taking place in the society.

Westernization

A community of people fully depend on hunting, fishing and food gathering, basket making,
weaving as their occupation.

Tribal community
Sachin by virtue of his birth in the high caste family enjoys a higher status.
Ascribed status.

To settle the disputes, we take the help of police, court or law. It’s a formal means of social control.
Where can we find such formal means of social control?

Urban community

Raju who lived in the city for many years found different kind of relations in the village when he
visited his relatives. They were very affectionate, loving, caring and friendly. What do we call such
relations?

Informal relations/Primary relations.

AHTSTAMRA 13



Ans.

Ans.

10.

Ans.

11.

Ans.

12.

Ans.

13.

Ans.

14.

Ans.

15.

Ans.

16.

Ans.

17.

Ans.

18.

Ans.

19.

Ans.

20.

Ans.

In India people speak different languages, such as Marathi, Tamil, Telugu, Gujrati etc. These
languages are known as

Regional languages.

You have witnessed Hindu-Muslim riots in India. Its an obstacle to national integration. This
obstacle is known as

Communalism.

Rich people have become richer and poor are poorer. This kind of economic inequality is observed
mainly after 1991 in India. It is the result of

Globalization.

If you go through the matrimonial column in any news paper you will find how India has been
divided. People of a particular caste or sub-caste want to marry within the caste or sub-caste. It is one
ofthe rules of marriage.

Endogamy

In India people used to produce all that was required in the house itself. Works such as weaving,
tailoring, grinding, pounding etc., took place in people’s houses. Now it is shifted to the factories. It
is one of the processes of social change.

Industrialization.

Critical thinking, rational and positive approach has developed among the people. This kind of
change is known as

Modernization

Due to Covid 19 pandamic, your teachers have started Online lectures. Without going to the bank,
one can make payment, transfer money etc. This is an example of

Digitalization.

During the ancient period girls were deprived of education. In Maharashtra, a renowned social
reformer started female education. Therefore, girls should be grateful to

Mahatma Jotiba Phule

He was a king. He tried to uplift the lower castes. He made primary education free and compulsory
and gave them reservation in jobs.

Shahu Maharaj.

There were many problems in Indian society. Some educated people come together to oppose the
social evils like dowry, child marriage, sati, untouchability etc. This kind of movement is known as
Social movement.

Famers cannot work throughout the year. In between sowing and harvesting they do not have much
work. Due to lack of irrigational facilities, some farmers find work find work only during rainy
season and remain unemployed after that. This is an example of

Seasonal unemployment.

A drunkard comes home late in the evening, shouts at his children and wife. Very often, even beats
them, tortures physically and mentally. It’savery serious violence.

Domestic violence.

Some people are addicted to alcohol, marijuana, cocaine, tobacco, gutka, etc. what kind of addiction
is this?

Substance addiction.

HATSATS 14



Maharashtra State Board of Secondary and

Higher Secondary Education, Pune 04

Sub. : Sociology Std. XII (45)
(w.e.f. Academic Year 2020-21)

Question Paper pattern

Note; 1. All the questions are compulsory.

2.
3.
4.

Marks:

Q. 1.
(A)

(B)

Figures to the right indicate full marks.
Minimum 4 points are expected for sub-questions of 4 marks.

Write answers to each question on a new page.

80 Time: 3 Hrs.
Attempt the following objective type questions. [20]
Complete the following statements by choosing the correct alternative given in
the bracket and rewrite it. Q)
( ; ; )
( b b 7)
( ; ) )
( ; ) )
( : , )
Correct the incorrect pair and rewrite it. (05)
1.

L.

II.

1.

Iv.
2.

L

II.

II1.

IV.

AATSALATE 15



(0)} Identify the appropriate term from the given option in the box and rewrite it

against the given statement.

(D)  Correct the underlined words and complete the statement.

Q. 2. Write short notes. (Any two).

THTSIRRA

IL.

III.
IV.

II.

II1.
IV.

II.

I1I.
IV.

AN

1.

2.
3.
4
5

(05)

(05)

(08)

16



Q. 3. Write differences. ( Any three).

ok v o=

Q. 4. Explain the following concepts with examples. (Any two)
1.
2.
3.

Q.5. (A) Complete the concept map

(B) State whether the following statements are True or False with reasons. (Any two)

l.
2.
3.

Q.6. (A) Read the following passage and answer the questions given below

(Passage is given at the end of your text book)

(B)  Give your personal response.( Any one).

Q. 7. Answer any One of the following questions in detail in about 150 to 200 words.
1.
2.

THTSTATRA
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